FIEWILSS UE[IWENYEW 1U4RIIY UL INVHIYHS

CV'TOETLOT |ZT'0LYLOT  |OE'TEYEST [00'VL8 SO'T99¢Y€E 9Z°LYT0E 6L°ETISY |00°LZT — IelR
00°66TOTL 000 000 000 000 000 000 000
ple Sap) 12bK| 6
00'156 00°0 00156 00°0 00°0ST 000 000sT  [00°0 eH (I e bR ph
o5k MRK-MBK ‘holpia) Rle hplbj| 8
1S'02LL9 1592429 000 0£'582 01°28901 01°28901 000 00°SY eH Yl 220/ L) 29y /Ligin
Wi ~ plo LR LRI b)Y [bh| /
00°9T2ST 000 00°9T2ST 000 00°00vZ 000 00'00vZ  |00°0 eH fiatia| 9
. ‘ < : . § ; OH eH
68'650ST 68'6v0ST 000 ov'€9 08'ELET 08'ELET 000 00 3 R K plo Lolarln k| S
9L'60TEE 9L'60TEE 000 8¥'6ET 9€°22S 9€°222S 000 002z eH plo b v
00°0 000 000 000 000 000 000 000 .
‘ — ki B €
00°8€L€Z 00°'8€LET 000 00001 05'VE6S 0S'vE6S 000 00's? ureys LB $0 — LG Mah Z
05'8690LT 0Z'EEZEE 0£'S9vLET  |00°O¥T SS'8EVT 9L'bLY 6L'€96T  [00°Z kR 04 — IM3 Lk (q)
phiok phik (8) .
00'0 000 000 000 000 000 000 000 — LR B3 L — plo Lig| €
68'6¥0ST 68'6v0ST 00°0 Ob'E9 08'ELET 08'ELET 000 00°0T Al Bp2b b
68'600ST 68'6¥0ST 000 Ov'€9 08'ELET 08'ELET 000 00°0T Sl [k €
eH ; .
000 000 00'0 000 00'0 000 000 000 iR RS &
: : b [Pl )
00°0 000 000 » 000 000 000 000 00°0 NTE:
L6'YISY L6'YISY 000 20'61 PTTIL vI'TiL 000 00°€ eH BRoIke] bY laisph] |
(8262 22 Ppbink) (hb kRE) Rl hijle| @
0] 0 0 0w)
(e 02) A A e VW (e 02) B fGow b Flog
ke b [ow) phink R Wikl ko b [09) phink WB| (Hhik ple ndbb) b Pl 0ds
02 P€'9 Ab LId|dbI 02 DIk Ab dklk
8€26Z — Ab Phink W611°0Z8€P80 3 w61 €'91.TPoET-N : 2DURD /BRI

O0ve9=03 Y laip 0001 —: OR b Iflh ibklin Y} Pyl
02 ve'9 — lben 2R

2l — b2k Dlx

lbbh — bib b SaRK

192 / RikIb — Ok lbils / Ikl

blUe — bl 1b Bh

I3 kb Ibbh — hlb 1b ki3 b

Inh[plish ®NBRIR DEISad — kil 1 lbiolp

LR®bIA Id Rld PIb kls ko) MR| & lahpizh oxhpjz DAD @ Ik DEble PSakK kb MAPI




SICTive g SepTmsqTE e HTYTOIU T TA PYYMINIIG

02 ¥E'9 Ab DRJbIK

02 LK 2> bllk

99°LYLSLT Z6°vS969T |PL'Z609 v ovs vv°8L807T vv°'L166TT |[00°'T96 |00°C8E o ety
SE'960S 15°086€ P8'STTT 89°ZT 8'€08 v8'£29 0091  |00T eH Ll L Jah B 8
80°0£ZET 80°0€Z€ET 000 00'vL T6'ETE Z6'E1E 000 00T uleyd Ll v
08'08SYTT 08'08SPTT 000 00'S9€ 08'08SPTT 08'08SHTT 000 00'S9€ aus b 03 0|1
inb » ) €
06'9L6V 000 06'9L6V 000 00'S8L 000 00'58Z {000 BH || pjlie @lkole dbjin Ikak /0p0N0E
IR Dhhth ‘DAL ‘lnlb) ikl 2
|vs-e98Lz ¥S'€98L7 000 9,'88 88'P6EY 88'V6EY 000 00'v1 eH ke
(z6'eie 2» Phink) (kb RPD) ple lakihe| L
86°'80EE6T 8V°CLETBT |0S'9E60T 80'899 9T'6TLE6 9Z'v6616 00°SZLT |00°LEE + il
00'156 000 00'156 000 00°0ST 000 000ST 000 eH (e LoR pdf
lo3B AUBRK—ABK ‘bolkla) Rle hblb)
05'5866 000 05'5866 000 00°SLST ‘{000 00'SLST 000 BH || pjlie wlalkole bl bk /0poN0E
2lR 2dhtd ‘Drb ‘Wib) ikl 9
05°690SL 05'690SL 000 00'SLZ 05'690SL 05'6905L 000 00'54Z aus b 02 0g1's
L (b i) 6
6€'TIPE 6€°TIVE 000 8971 96°SYS 96'S¥S 000 00'Z eH bhip inp B3 kg 2h kb @ B3| ¥
E€€°LITEY €€°L9TEY 000 05'8ST 05'vZ89 05'vZ89 000 00'SZ eH b gite 1| €
ST'SLOSE ST'SLO8E 000 8t'6€T 95°5009 95'5009 000 00'2Z eH hipued) z
10°66v22 10°66¥22 000 'zs bL'8YSE vL'8YSE 000 00'€T eH
DR RAK KL Rle ILIRRK k|
(86222 2> pPhiok) (Rb RPB)) Rie Lhikk| B
(& o) (& (& 02) _ (ke 0w) (& (& o) flog .
ke PG 0w) Rbink RH ikl TP ve ke D [ow) phink D[ (Hhik ik Rld ln2bb] | Rlb 0gs




OL’ESYOET |OL°'ESYOET |00°0 00°S9t OL'€ESYOET |0L°ESVYOETZ |00°0 00°S9¢ = il
0L'ESYOET 0L'ESYOET 000 00°'S9€ 0L ESPOET 0L'€SYOET 000 00°'S9€ aus (&b 02 08) 1 1@ L] +
(8€'1€9 b Phink) (kb kosk) ple loklhi| €
$6°S6£00C S6'S6€00C |00°0 00°S9€ $6°'S6€00C S6°S6€00C |00°0 00°59¢ ~ i
$6°'S6€00Z $6'S6€00Z 000 00°S9€ $6°S6€00Z $6'S6€002 000 00°S9€ aus (&b 02 0F) iR (@ Al b
(c0'6¥s ad Phink) (kb hivB) pld Lklmb( 4
0E'8SZVLT  |0E'8STYLT  |00°0 00°S9€ 0€°'8STPLT  |0E'8SZTVLT |00°0 00°'S9¢ — ik
0€'8SZYLT 0€'8SZYLT 000 00°'S9€ 0£'8SZVLT 0€'8SZYLT 000 00°'S9€ aus (&b 02 0f) B | L] 1
(z¥'2ev 2> Pdiok) (ke 128) pld lakih| 4
9S°'T00TZZ |9S°6606TZ |00°ZO6T 9L’ LTS 00°LS08ST 00°LSLLST |00°00E |00°08¢t =~ lellz
0T'TZLOE OT'TZLOE 000 00°tL ST'STY ST'STY 000 00T uteyd Djnk k| ¥
SL'6ZSIST SL'6ZSTST 000 00'S9€ SL'6ZSTST SL'6Z5TST 000 00'S9€ as (@b 03 0¢) b 1o 1€
002061 000 002061 000 00°00€ 000 0000 000 H || njlie wlibole wpjn 1ok /000
BlR 2Ahd ‘Drb ‘B(B) (kiR Z
1L°8V89€ 1£'8V89€ 000 9£'88 01'Z18S 01°218$ 000 00+ eH lelok) Y (LSle @il |
(Stsiv 2> RPhiok) (pb bbh) Rl lakik| B
8S°LLYYLT 8'v8€89T vL°z609 vv'99v 00°Z0S8ET 00°'TVYSLET |00°'T96 |00°I8E =ik
2E°€695 8Y'LLSY ¥8'STTT 8971 00°868 00°22L 009.1 002 eH 2 1 L bb| 7
00°S9LTET 00°S9LTET 000 00°'S9€ 00°S9LTET 00'S9LTET 000 00°'S9€ s e 03 oc|ie
b b ) €
06°9L6Y 000 06°'9L6Y 000 00°S8L 000 0058,  |00°0 BH || ol @lalbold dbjin Rk /0RO
IR 23t ‘DAL ‘Inlp) (kI 2
9€°ZPOZE 9€'ZY0ZE 000 9488 00°S0S 00505 000 00t BH by bY Wile wd] |
(00198 a» pPhink) (kb eDB) Ri® ki B
(b 02) (& (& 02) (ke 02) (& (& 02) flepg
. . BbY| bk . o BbY| bhlh
ko B [ow) Rhink RhH| ki ke Re  |0w) Phiok RB|  (Bhik ple arb| | Rl 0ds
02 ¥€'9 Ab DI|dblK 02 L Ab hlalh v




|k Lb Ibdp

TITITTIVIA SSTm ey e T Y-i0 YA PYVUIGng

kR bb
SR
bhikh
IL'SELOTOE — RN RD
SEILLYOE (e 1bBD) Ri loklhel
02610592 (ke kbk) Rl loklhek
0L'€SPOET (b boule) pld loklhek
$6'S6£00T (he BB) Rld loklbk
0€'8STYLI (kb 120) Rl® lnk|kb
95'100122 (he kRb) Rlb lablhb
8S'LLYYLI (ke RBR) plo Labin
99°LYLSLI (ke RIPD) pld Lokl
86'80€€61 (he RIP3)) pid khibk
Y 10€1L01 (kb hiek) Rlo kil
RJx DRI®bIR ke
, B
TL'SELOTOE |€v'088TZIZ [82'0S98LT [2L'TO6Y |SZ'9TLOZLT |9v'SSZZIZT |6£:09v8 |00 ZEVE — ik BB
SE'TLLYOE  (SE'TLLYOE [00°0 00'S9E  [SE'TLLYOE  [SE'TLLVOE 0070 00°S9€ — ik
SE'TLLYOE SE'TLLYOE 000 00°59¢ SE'TLLYOE SE'TLLYOE 000 00°59¢ 21N (eb 02 ) JTENNY & a1
(66768 2> phink) (kb 1bBD) pid labiek| ko
0Z'6T0S9Z  (0Z'610S9Z |00°0 00'S9€  (0Z'6T0S9Z  (0ZT'6T0S9Z |00°0 00°S9€ - Ilp
0Z°61059C 0Z°610S92 000 00°59¢ 0Z°610592 0Z'61059Z 000 00°S9¢ C21Y (wb 03 omv b e ] 1
(80922 2> phink) (kb kbk) ple Lnihn| a
mmow.vm“ 0w) GM?EW RG A_MMW i i Mwﬂomm 0w) @MAMW LD AWMWV i WMW Uab) b Rl 0gs
02 PE'9 2D DRJbblK 02 DJK AD bhlh e




